#### KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

## WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 30742	API No. 15 - 135-24702~00~00
Name: Palomino Petroleum, Inc.	County: Ness
Address: 4924 SE 84th St.	N/2 - N/2 - NW Sec. 24 Twp. 17 S. R. 26
City/State/Zip: Newton, Kansas 67114-8827	100 feet from S N (circle one) Line of Section
Purchaser: None	1240 feet from (E) W (circle one) Line of Section
Operator Contact Person: Klee R. Watchous	Footages Calculated from Nearest Outside Section Corner:
Phone: (_316) _799-1000	(circle one) (NE) SE NW SW
Contractor: Name: Southwind Drilling, Inc.	Lease Name: Norton-Klement Well #: 1
License: 33350	Field Name: Lazy 17
Wellsite Geologist: Robert A. Schreiber	Producing Formation: None
Designate Type of Completion:	Elevation: Ground: 2463 Kelly Bushing: 2473
✓ New Well Re-Entry Workover	Total Depth: 4508 Plug Back Total Depth:
Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 224 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
✓ Dry — Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt.
Well Name:	
Original Comp. Date:Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content ppm Fluid volume bbls
Plug Back Plug Back Total Depth	
Commingled Docket No.	Dewatering method used
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
	Lease Name: License No.:
9/14/07         9/24/07         9/24/07           Spud Date or         Date Reached TD         Completion Date or	Quarter Sec TwpS. R 🔲 East 🗌 West
Recompletion Date Recompletion Date	County: Docket No.:
INSTRUCTIONS: An original and two copies of this form shall be filed with Kansas 67202, within 120 days of the spud date, recompletion, workove	the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, r or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply
Information of side two of this form will be held confidential for a period of 1: 107 for confidentiality in excess of 12 months). One copy of all wireline logs TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	2 months if requested in writing and submitted with the form (see rule 82-3- and geologist well report shall be attached with this form. ALL CEMENTING
All requirements of the statutes, rules and regulations promulgated to regulate herein are complete and correct to the best of my inowledge.	te the oil and gas industry have been fully complied with and the statements
Signature: Lee L. Muchows	KCC Office Use ONLY
Title: President Date: January 10, 2008	Letter of Confidentiality Received
Subscribed and sworn to before me this <u>10th</u> day of <u>January</u>	If Denied, Yes Date:
20_08	Wireline Log Received SAS CORPORATION CORPUSSION
Notary Public: On A Protage BLIC - State of Ka	Geologist Report Received  UIC Distribution JAN 1 2003
Carla R. Penwell 4 CARLA R. PENWELL Date Commission Expires: Octob 2000 Appt Expires 10 - 10 - 10	
	WICHTA, KS

Operator'Name: Palomino Petroleum, Inc.				Leas	se Name:	Norton-Kleme	ent	Well #: 1		
Sec24 Twp17			t 🗸 West		nty: Ness					
INSTRUCTIONS: Shot tested, time tool open temperature, fluid reco	and closed, flowing overy, and flow rate	g and shu s if gas to	t-in pressures, surface test, a	whether along with	shut-in pre	ssure reached	static level, hydr	ostatic pressur	es, bottom l	nole
Drill Stem Tests Taken (Attach Additional S		<b>✓</b> Y	′es		VL	og Formati	on (Top), Depth	and Datum	Sar	mple
Samples Sent to Geol	ogical Survey	<b></b> ✓Y	′es □No	'es □No		e ,		Тор 1816		tum 659)
Cores Taken		□ Y	′es ✓ No		Anhy	· Anhy.		1846	•	627)
Electric Log Run		<b>✓</b> Y	′es 🗌 No		Торе	•		3489	•	016)
(Submit Copy)					Heel	oner		3752	(-12	279)
List All E. Logs Run:					LKC			3799	(-13	326)
Radiation Gua	rd, Sonic, Mi	cro			ВКС			4108	(-16	335)
					Marr	naton		4167	(-16	594)
					Paw	nee		4233	(-17	760)
		Dana		RECOR			A!A-			
Purpose of String	Size Hole	T	ze Casing	· · · · · · · · · · · · · · · · · · ·	suпасе, inte /eight	rmediate, produc	Type of	# Sacks	Type and	Percent
	Drilled		et (In O.D.)		s. / Ft.	Depth	Cement	Used	Addi	
Surface	12 1/4"	8 5/8"		20#	· · · · · · · · · · · · · · · · · · ·	224'	Common	160	2% gel, 3	3% c.c.
				4,						
		<u> </u>	ADDITIONAL	. CEMEN	TING / SQL	JEEZE RECORD	)		<u> </u>	
Purpose:	Depth	Type	e of Cement	#Sac	ks Used	Type and Percent Additives				
Perforate Protect Casing	Top Bottom		, or osmant "caono coou							
Plug Back TD Plug Off Zone									·····	
Tidy Oil Zoile										
	PERFORATI	ON RECO	RD - Bridge Plug	ns Set/Tur		Acid Fra	cture, Shot, Cemer	at Saucezo Becc	-d	
Shots Per Foot			Each Interval Per				mount and Kind of N			Depth
TUDIUS SESSES										
TUBING RECORD	Size	Set At		Packe	r At	Liner Run [	Yes ✓ No	<b>o</b>		
Date of First, Resumerd	Production, SWD or E	Enhr.	Producing Met	hod	Flowing	g Pumpi	ng 🔲 Gas L	ift Oth	er <i>(Explain)</i>	
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf	Wate	er B	Bbls.	Gas-Oil Ratio		Gravity
Disposition of Gas	METHOD OF (	COMPLETIC	ON			Production Inter	val	F	RECEIVE	5
Vented Sold	Used on Lease		Open Hole	☐ pa	erf. $\square$ D	ually Comp.	Commingled	WANSAS CO	RPORF	10182PR
(If vented, Sub			Other (Special		LJ 6			1.8	N 1 1 20	<u>.</u>

### **LOGS**

Ft. Scott	4306	(-1833)
Cherokee Sh.	4329	(-1856)
Miss.	4404	(-1931)
LTD	4508	(-2035)

RECEIVED KANSAS CORPORATION COMMISSION

JAN 1 1 2008

CONSERVATION DIVISION WICHITA, KS

BIUTO: AND THE PROPERTY OF THE

24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Palomino Petroleum, Inc. 4924 SE 84th St.

Voice: Fax:

(785) 483-3887 (785) 483-5566 RECEIVED

OCT 0 3 2007

### INVOICE

Invoice Number: 110351

Invoice Date: Sep 28, 2007

Page:

1



Custon	eriD - T	Well Name/# or Customer P.O.	Päyme'nt'	Terms 🧦 🔭		
Palo		Norton Klement #1	Net 30 Days			
Sales R	ep ID	Camp Location	Service Date Due I			
		Great Bend	Sep 28, 2007	10/28/07		
Quantity	ltem .	Description	Unit Price	Amount*		
159.00	MAT	Common Class A	11.10	1,764.90		
106.00	MAT	Pozmix	6.20	657.20		
11.00	MAT	Gel	16 65	102 15		

CONTRACTOR AND CONTRACTOR OF THE PARTY OF TH	THE ALLEGE ESTABLISHED TO SEE STREET STREET	在现在的中国的企业大型的在市场的工程中的工程中的企业,这个企业工程,这一个企业工程,但是是一个企业工程,但是是工程的工程,但是是工程的工程的工程的工程的工程的工		The state of the s
159.00	MAT	Common Class A	11.10	
106.00		Pozmix	6.20	657.20
11.00	MAT	Gel	16.65	183.15
66.00	MAT	Flo Seal	2.00	132.00
279.00	SER	Handling	1.90	530.10
33.00	SER	Mileage 279 sx @.09 per sk per mi	25.11	828.63
1.00	SER	Rotary Plug	815.00	815.00
33.00	SER	Mileage Pump Truck	6.00	198.00
			RECEIVI KANSAS CORPORATION JAN 112 CONSERVATION E WICHITA K	COMMISSION  OOS

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE

Oct 28, 2007

Subtotal	5,108.98
Sales Tax	270.78
Total Invoice Amount	5,379.76
Payment/Credit Applied	
TOTAL	5.379.76

## ALLIEC CEMENTING ()., INC.

30890

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

SERVICE POINT:

9-14-	SEGU	TWP.	RANGE 9/	CALLED OUT	ON LOCATION	JOB START	JOBOFIN BER
DATE - 29 - E	-		26	I & AM	,	COUNTY	STATE
OLD OR MESS	(Circle one)		LOCATION ( )	Ut ca 163	5 8/5	COUNTY V 55	"K,S,
			1 0 . 1				
CONTRACTOR	Soul	hus	nd Rig 1	OWNER			
TYPE OF JOB		Tary	The same	- CIED GENIO			
HOLE SIZE		T.D.	4510 FT	CEMENT	913	-60 ,-	· /
CASING SIZE		DEF		_ AMOUNT OR	DERED _	4646	326
TUBING SIZE	1	DEF		· / —	# F/0 50a	Pr/sk	
DRILL PIPE	43	DEF		<i>f</i>	4		
TOOL		DEF		_	150	1110	. 11 11 0
PRES. MAX			IMUM	_ COMMON	157	_@ //.1D	1764.90
MEAS. LINE	uni coc	SHC	DE JOINT	_ POZMIX	106	_@_ <i>6,2</i> 0	657,2
CEMENT LEFT	IN CSG.			_ GEL	//	<i>5وا، با [</i> @_	183.1
PERFS.	7.77			_ CHLORIDE _			
DISPLACEMEN	VT			_ ASC		_@	
	EQU	IPMENT		470580	2166	_@ <u>2,00</u>	132.00
						_ @	
PUMP TRUCK	CEMENT	FR ///	ko m			_@	
# 151	HELPER					_@	
BULK TRUCK	THEEFER	7				@	
# 344/	DRIVER	4				@	
BULK TRUCK	DRIVER		7/2/			@	
#	DRIVER			-		@	
<del>*************************************</del>	DRIVER			- HANDLING_	279	@ 7.90	530.10
				MILEAGE <b>3</b>	3.9.27	9	828.6
	REN	MARKS:				TOTAL	4095,9
50 de	A 18	40 0				IOIAL	10 1011
SO B	1	110 1		_	CHILDRE	~~~	
110 8	D.	15 11	1	-	SERVI	CE	
70 1		100		- '			
20 2		1 - 14		_ DEPTH OF JO	B 1840		
15	1 10	60 M			CHARGE		815,00
15 24	1 PL p					_@	100
10 00	n n	7 / / · · · · ·		_ MILEAGE	10	_@_ <b>6.0</b> 0	198,00
				<ul> <li>MANIFOLD _</li> </ul>		_ @	
						_ @	
,	$\mathcal{D}_{i}$					_@	
CHARGE TO: _	Talon	ino	Petr	_			
CTDEET	•			•		TOTAL	1013,00
SIREEI				-		101112	
CITY	STA	ATE	ZIP				
			•	j	PLUG & FLOAT	' EQUIPMEN	Τ
			16 1V				
			THANK		****	_ @	
			Thank			_@	<u></u>
To Allied Ceme	enting Co., I	nc.	111		<del></del>		
You are hereby	requested to	rent cem	enting equipment	·			
and furnish cen	nenter and h	elper to as	sist owner or			_@	
			e above work was				_
			of owner agent or			TOTAL	_0
			the "TERMS AND			TOTAL	
CONDITIONS							
COMPLITIONS	nsieu on H	ie reverse	side.			-	
				TOTAL CHAR	GE		
				DISCOUNT		##T #3.4 **	) IN 20 P 4776
	/ 1	_		DISCOUNT -		—— IF PAIL	JIN 30 DAYS
/	4 1,	1 /)	0 -	<del>/</del> 1	$\rightarrow$ $\cap$		
SIGNATURE _	wall &	chou	el	Frank	J. R.	one	
				,		ED NAME	
	•				: • •	··	



24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Palomino Petroleum, Inc. 4924 SE 84th St. Newton, KS 67114-8827

Voice: Fax:

(785) 483-3887

(785) 483-5566

RECEIVED

SEP 2 1 2007

INVOICE

Invoice Number: 110197

Invoice Date: Sep 19, 2007 1

Page:



<b>Customer ID</b>	Well Name/#: or Customer P.O.	Paymen	t-Terms
Palo	Norton Kiement #1	Net 30	Days
Sales Rep ID	Camp Location	Service Date	Due Date
	Great Bend	Sep 19, 2007	10/19/07

		· · · · · · · · · · · · · · · · · · ·	_ <u></u>	
Quantity	Item	Description	<b>Unit Price</b>	Amount
160.00	MAT	Common Class A	11.10	1,776.00
3.00	MAT	Gel	16.65	49.95
5.00	MAT	Chloride	46.60	233.00
168.00	SER	Handling	1.90	319.20
33.00	SER	Mileage 168 sx @.09 per sk per mi	15.12	498.96
1.00	SER	Surface	815.00	815.00
33.00	SER	Mileage Pump Truck	6.00	198.00
1.00	SER	Head Rental	100.00	100.00
1.00	EQP	Wooden Plug	60.00	60.00
				•
			REC	EIVED
			KANSAS CORPOR	PATION COMMISSION
			JAN 1	1 2008
1			CONSERVA	TION DIVISION
			WICH	ITA, KS
			77.11	
	RE NET, PAYABL			4,050.11
30 DAVS FOLL	OWING DATE OF			

30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE

# @ct 19, 2007/

Subtotal	4,050.11
Sales Tax	112.30
Total Invoice Amount	4,162.41
Payment/Credit Applied	
TOTAL	4:162.41

# ALLIE CEMENTING CD., INC. 30882

REMIT TO P.O. BOX 31

SERVICE POINT: G, B,

	RUSS!	ELL, KAI	NSAS 6766	55			#25	City
DATE?	15-07	SEG 4	TWP.	RANGE 26 w	CALLEDOUT	ON LOCATION	JOB STORE	JOB FINISH
Nort		127 <del>-22</del> 7-1	i	LOCATION UITE	46 56	•	COUNTY	STATE
OLD OR	VEW (Cir			LOCATION WITE	a ge oo	75	11-55	17.7.
OLD OR							_	
CONTRA	ACTOR ,	Sout	7.win	d Rug !	OWNER			
TYPE OF		ک	ursce		<u> </u>			
HOLE SI		1	2 7 T.D.	226 oft	CEMENT		0 1. 0	
CASING TUBING		<u></u> ₹	DEF		- AMOUNT ORI		0 1/1 Co	mmon
DRILL P			DEF DEF			370	c de La	<u>~</u>
TOOL			DEF					
PRES. M.	AX		MIN	IIMUM	COMMON	160	_@ <i>_{//,1D</i> _	1776.00
MEAS. L			SHC	DE JOINT	POZMIX		_@	
	<u> LEFT IN</u>	CSG.	15	st	_ GEL		_@ <i>_16.65</i>	
PERFS. DISPLAC	PEMENIT		1366		_ CHLORIDE		•	233.00
DISTLAC	PEMIFIAI	FOL		<u> </u>	_ ASC	· · · · · · · · · · · · · · · · · · ·	@	
		EQU	IPMENT					
DI II AD EE	OLIOIZ A	OEL (EL IO	- M	! /1 -e				
PUMP TH	a	CEMENT HELPER	ER //	1 1	_			
BULK TH		HELFER	<u> </u>	nay			@	
# 34		DRIVER	Tx	la v			_ @	
BULK TI			· · · · · · · · · · · · · · · · · · ·		_		@	
#	]	DRIVER			- HANDLING	168	-@ <del>-7.96</del>	319.20
					MILEAGE _3		3	498.96
		RE	MARKS:				TOTAL	2817.11
Clra	ulate	The	Hole a	with Ring		•	10.111	
MI	ed Pi	KMP			<del>-</del>	SERVI	CE	
m.	X Con	nent		elease The	_			
-PL	ug 9		ace e	The phicy		B 2264		
$-\mathcal{D}$	own	wife	h wat	x /		CHARGE		815,00
6	nen	Fali	iel -	Circula	EXTRA FOOT MILEAGE 3	AGE	_@ <i></i> _	198.00
	10	Sars			MANIEOLD	· ·	@ <b>6.00</b>	190.00
	,				MANIFOLD	adrent	_	100.00
	7	$\supset I$						
CHARGE	E TO:	alor	nino	Petr	_			
STREET		•					TOTAL	1113,0
					-			
CITY		ST.	ATE	ZIP	-	PLUG & FLOA	T EOUIPMEN	т
				1 1.			, -	_
			1	honk	1-08 W	rooden j		60,00
			,	404				
To Allie	d Cement	ing Co 1		11/				
		_		nenting equipment				
	-	-		ssist owner or			@	
				ne above work was				1 - 00
				of owner agent or			TOTAL	60,00
				the "TERMS AND	TAX			
CONDI	HONS" l	isted on t	he reverse	side.			_	
					TOTAL CHAR	GE		
		$\frown$	_		DISCOUNT _		IF PA11	D IN 30 DAYS
	<b>y</b> /	4 1	711			,		
SIGNATU	URE 91	hark	8 h	Cone	tran	KJ, G	com.	<u>e</u>
			0			PRINT	ED NAME	V-
							· <del></del>	